messsssss ||INEAR ALGEBRA — WEEK 1

VECTORS

This week we will learn about:

« What vectors are,
« How to manipulate vectors, and

o Linear combinations.

Extra reading and watching:
« Section 1.1 in the textbook
« Lecture videos 1, 2, and 3 on YouTube

« Vector at Wikipedia

Extra textbook problems:
* 1.1.1-1.1.3, 1.1.5-1.1.8
*x 1.1.9-1.1.12
*x* 1.1.13(a), 1.1.14, 1.1.15
B 1113(b)


https://www.youtube.com/watch?v=ea6p2eb7mTQ&list=PLOAf1ViVP13jmawPabxnAa00YFIetVqbd&index=1
https://www.youtube.com/watch?v=5H8nCvbLhfc&list=PLOAf1ViVP13jmawPabxnAa00YFIetVqbd&index=2
https://www.youtube.com/watch?v=7LDLe131WAI&list=PLOAf1ViVP13jmawPabxnAa00YFIetVqbd&index=3
http://en.wikipedia.org/wiki/Euclidean_vector
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Linear algebra is one of the branches of mathematics where everything “just
works”. Most of the objects that we introduce in this course will seem rather
simple and unremarkable at first, but we will be able to do a lot with them. Some
of the things we will be able to do are motivated very geometrically...

Example. Lengths, angles, and deformations (oh my!)
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...while other applications will involve sifting through huge amounts of data:

Example. How does (well, did) Google work?
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Vectors

A vector is an ordered list of numbers like (3,1). These lists can be as long as we
like, but we’ll start by considering 2-dimensional vectors in order to establish some
intuition for how they work, since we can interpret them geometrically in this case.

Several different notations are used for vectors: ),

—
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The coordinates or entries of a vector only tell us how far the vector stretches
in the z- and y-directions; not where it is located in space.

Example. Coordinates of vectors.

These are  df i
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That is, vectors represent...
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The order of the coordinates matters: for example, (2,3) # (3,2). For this
reason, 2D vectors are sometimes called “ordered pairs”. In another math class,
you might be introduced to objects called “sets”, where order does not matter.

« Two vectors are equal if and only if...

* same. aw”‘(’ies %) same ’OCQ‘HaVLS? or
" Same |w3+h and o’i(e,c’,’io/).

e The zero vector is...

(070) 5 Cl@f)o’f'@{ é)l 5

o Recall that the set of all real numbers is denoted by R. Similarly,

the sef £ 2> vectne Is dencted 6>l HZZ

Sometimes we want to combine two (or more) vectors to get new ones. For
example, we might want to think about what happens if we move along the path
of multiple different vectors, one after another. Where do we end up after doing
this? The answer is given by vector addition.

Example. Vector addition.
vE@2)
v = (1,2)
—\7"‘ W = (3>2> *(l) 3)
= (45)
Sust  adld Mryw;'S&l.

Specifically, if v = (v1,v2) and w = (wy, ws), then v+ w = (v; + wy, v9 + wo) is the
vector from the tail of v to the head of w.
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Another common way to manipulate vectors is to “scale” them (or “multiply
by a scalar”). The idea here is that we want to move in the same direction as a
given vector, but we want to change how far we move in that direction.

Example. Scalar multiplication.

V=21 ]

2v=(t,2) |

Specifically, if v = (v1,v9) and c is a real number, then c¢v = (cvy, cvy) is the vector
that points in the same direction as v, but is ¢ times as long (and if ¢ < 0 then the
direction of the vector is reversed).

Finally, how do you think vector subtraction might be defined? If v = (v, v9)
and w = (wy, w9), then

V—w= (V,'W, ; \/1’\'\/:.>

<y

is the vector from the [r,p/qJ o'F W to the head of

Example. Vector subtraction.

It \7=($,i) and U’(%@ T
H’lt‘%’] :- v-w= (') “2)

7*\7\7=(3;’)’(2>3>=(|>’2). = —
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Example. Suppose that a regular hexagon has its center at the point (0,0) and
one of its corners at the point (1,0). Find the sum of the 6 vectors that point from
its center to its corners.

Method 1 COW)P e enfries ¥
o'F gcrclv \/ec"'m’ Usi ")3
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(/V\ vich  moe  elegant!)

If v and w are the (non-parallel) sides of a parallelogram, then v+w and v —w
appear very naturally in that parallelogram...

Example. The parallelogram rule.

Fo(' o Pq\’a / , e[ ooram ‘v\/i‘H') Y Q
side veclors V  and \77) i 7 N
the  dugondls  are [ ¥
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3-Dimensional Vectors

Everything we have learned about vectors so far extends naturally to 3 dimensions.

Th\?/(& K3 V)o'H/H'mﬁ S/Qgcid{ about :ZD'

A vector in 3 dimensions is an ordered triple like (1,3,2), and the set of
all ordered triples is denoted by R3. These are a bit harder to draw than their
2-dimensional counterparts, but it’s still possible...

Example. Drawing 3D vectors.

We won't  dvaw  Hese
é}/ )/Mna( ) AU’r we T
n eeo[ ’)’ 0 of}' )&GLST
bee able o read
oom‘ou‘l'ef - oen ecated

ch*th\n S.
2
\_/x

Everything we have seen in 2D carries over exactly how you would expect in 3D:

o Adding vectors still has the geometric interpretation of “following” both vec-
tors, one after the other.

o Adding vectors has the same formula you might expect:

(V” V1>> (\JI) W2, 3) (V +W, 7V +We, V. *W3>

o Scalar multiplication still has the geometric interpretation of stretching the
vector.

o Scalar multiplication has the same formula you might expect:

c(vuvz)v}) = (cv,) CV,, cv3>
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High-Dimensional Vectors

Everything we have learned about vectors so far extends naturally to 4 (and more!)
dimensions.

’”’16(& S V)oH/H'ng S/bgcicl{ déoU+ SDI
We'll get a bit more general now and consider an arbitrary number of dimensions.
A vector in n dimensions is an ordered n-tuple like (1,2,3,...,n), and the

set of all ordered n-tuples is denoted by R". These are a bit harder to draw than
their 2- and 3-dimensional counterparts...

Example. Drawing 4D (and 5D, and 6D...) vectors.

Nopg!

\I‘/& can no+ ol,uhl-e Pi c”' ure ‘H\ese \/&&'f‘aﬁs
ke we cowld I 2D o~ 3D, bt
a(geéruicaﬂy they work  the  same.

However, everything algebraic that we have seen for 2D and 3D vectors carries
over exactly how you would expect in higher dimensions:

o Adding vectors has the same formula you might expect:

(v,,v,,...,v,.) 4—(w,7wz7 "'7Wn) = (\/, +\,J,7\/1+v\/2)_,)\/n+\,,/n)

e Scalar multiplication has the same formula you might expect:

C(\/.,vz,.‘.,v,,) = (CV, yCVy sy cv,,)
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Even though we can’t draw vectors in R"”, we still want to be able to manipu-
late them. We have seen that vector addition and scalar multiplication work the
“naive” way. The following theorem shows some more properties that are similarly
“obvious”:

Theorem 1.1 — Properties of Vector Operations

Let v,w,x € R" be vectors and let ¢,d € R be scalars. Then

a) Viw=w-+V (commutativity)
b) (v4+w)+x=v+(wW+x) (associativity)
c) ¢(V+w)=cv+cw (distributivity)
d) (c+d)v=cv+dv (distributivity)
e) v+0=v

fy) v+(—v)=0
g) c(dv) = (cd)v

Proof. We will prove property (a) in class; you can try to prove some of the others
on your own (the method is quite similar).

Write 7=(v,7vz]...)vn) and W:(\"/n)\"/z)--->wn>.
Then
Vrw = (v, +w, SV, TWo LV »r\,./,,)
/1"' (w,+v,7wz Voo \/s/,,,+\/n> = W4+V.
sSince qoui‘l‘ion on ”2

S oommU+°l ve

o
definition B vector quHion

which completes the proof. |
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Why did we even bother with the theorem on the previous page? They’re all
the type of thing you can just look at and “see” are true, right?

One reason is that we have to make sure that certain combinations of sym-
bols even make sense when we are in new and unfamiliar settings. For example,
associativity (property (b)) says that this expression makes sense:

V+ W+ ? - \/\/3 c’on)‘,' I'MV& "’° 3()&55 i it
medns (V%—\ﬁ) +X o V+(W+R).

We will soon introduce some operations that do not have these basic properties
like commutativity, so we will have to start being very careful.

Example. Simplify v + 2(w — v) — 3(v + 2w).
V+ 2@-V) -3F+27) = V+2A7-27 -39 - bV
- ALI'\A/\’ - L‘—\? orheunql
Onl\/ olo \/eo‘l'oc’ qo{ell"l"fon an/ SOq/qr‘ m()H'}f /icq 1"(00 l

N

Linear Combinations

One common task in linear algebra is to start out with some given collection of
vectors vi,vo,...,Vvr and then use vector addition and scalar multiplication to
construct new vectors out of them. The following definition gives a name to this
concept.

Definition 1.1 — Linear Combinations
A linear combination of v, vy, ..., vy € R" is a vector of the form
C1V1 + CaVy + - - - + CLVE,

where ¢q,cs,...,c € R.
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Example. Show that (1,2,3) is a linear combination of the vectors (1,1,1) and
(—1,0,1).

Ve wait to sole (1,23 =c(,,1) +¢,(-,0 1)
“le-ca e cite,).

oo C,:':Z and cl—cz=1) so <, 1.

Y

Example. Show that (1,2, 3) is not a linear combination of (1,1,0) and (2, 1,0).
We vt fo  solve O)?)}) =c,(,10) +c,(2.1,0)
=(er2e,, c ¥C,, O)_

Third am’hfy says 2=0, No  solution!

When working with linear combinations, some particularly important vectors
are the ones with a single 1 in one of their entries, and all other entries equal to 0.
These are called the standard basis vectors:

El, = (')Oy'“> <O)|)O> qno( N 9enerd

é:) ) (O,o,___) O’ &)/\)—H” F/n"‘ry

Example. List and draw all of the standard basis vectors in R? and R?.

T, K In R

g = (1,0) g =(1,90)

g~ (@) g=(01,0)
) g,~(00,)
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For now, the reason for our interest in these standard basis vectors is that every
vector v = (v, v9,...,v,) € R” can be written as a linear combination of them. In
particular,

—

V=ViE t VL8, +- +V,8,

This idea of writing vectors in terms of the standard basis vectors is one of the
most useful tricks that we make use of in linear algebra: in many situations, if we
can prove that some property holds for the standard basis vectors, then we can use
linear combinations to show that it must hold for all vectors.

Example. Compute 3e; — 2e; + e3 € R3.

3z - 2¢g; “'g; = 5(‘70)()) -2(9,0) + (0,0, l)
- @70903 *(O)"Z)O) t (o)o)|> - (37'2) ') .

Example. Write (3,5, —2, —1) as a linear combination of ey, es, e3, e; € R%.

(3,5,-2,~1) =22, + 58, -2, - 2.
st reed  Hhe  coefficieqts!



